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1. Answer anv five questions’ (1x5=5)

{a) Whuch of the following 15 an example of a state function”
(1) Q '
(z1) W
() Cp
ay)

(b) Which of the followms ergamic compounds responds 1o both the iodeform test and
Fehling's test?
(1} Propanone.
(11) Ethanal
{111) Methanal
{r¥) Ethanel

(c) In 3 buffer solution containing £qual concentrations of B and BH-_ the Ky for B s 1072
The pH of the buffer solution 157
(1) 10
i) o

{dYWhich of the following compounds will show the slowsst reactton rate dunng the
reaction with Bz FeBo:
(1) Benzens
(1) Toluene
(1) Amsole
(1v) Niurobenzene

{g) Valuz of work done in free expansion of an ideal 233
(i} Posmive
(1) Negam=
(1) -Zaro
(1v) Infmsty



(f) The property, which can be classified as an extensive propeity, 1s-
(1) Mzelune Pomt
(1) Egar
(i) ¥
) G

(2} In Reformatsky reaction
{1) The components are more active than Gngnard reagents
(11) Organe zinc compounds arenvolved
(111) An g-hvdroxy ester 15 obtamnad
(iv) Mg mesal 15 treated with 2 haloesier

{h) Conssder the reaction CO(g) — %= Oz (g} =C0:(2) at constant temperature and pressure.
Which ane of the following 15 correet?
(i) AH<AE
(i) AHFAE
(m) AH=AE
{iv) non=s of these-

2 Answer any four questions: Zx4=8)
(a2) Acemldehyde performs aldol condensanon reaction bur benzaldehvde doss met —

Justify

(1) What is the effect of change of pressure on equuilibrium constant for a gaccous reaction?

{c) Transform: Nirobenzene o m-Nitroaniline

(d) Show that the amount of work done mn a reversible process 15 always greater than m an
ureversible process.

() Why does benzenie participaic mate easily in slectrophilic substitution reactions than in
nucleophilic substitution”

(f) Explain whether the same result can be obfamed by heating CaCO: in open space and
it a confinad container.

(2] What happens 1f PCls1s addad in benzaldehyde?

(h) What is the relation between 1onization constant and wonie product of water?

3 Answer any Do guestions: 2x6=12)

¢a). (1) Calculate efficiency of a Camnot engme working between 127°C and 27°C.
(1) How would you synthesize crotenaldehvde from acetaldehvde?
(11} Explan why nitrobenzens does not pérform Friedel Crafis réaction
[22-2]

(b). (1) The reaction benween 1 mole of PCls and 2.5 moles of Cl 2as at 300°C m a one liter
contamer produces 065 mole PCl:. How many moles of PClz-and CL wall be 1n
equilibiium? What is the value of K22

(11) Write short notes on Cannizzarg reaction & Pinacol-Pinacolone rearrangement
[3=3]

(c). (1) “pH scale ranges from 010 147 = justify



(1) Caleulate pH of 0.02 M aceuc amud and 0.08 M sodium acétate solution (Given pk-
=473),

(111) What product would be formed if s-mitrobenzaldshyde 15 tr=ated with AOPrE in
Pri0H” Explain the mechamism of the reaction.

[’r'_}—'?l

e P

{d) (1) For the same volume chanoe. if the mitial pressures match, the ssothermal sxpansion

wotk will be greater than the adiabanc expansion work for an ideal gas. Jusufy.
(11} Explam why lactic acid grves a positive sodoform test but propiomc acid does not

[3=3]

(=)
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3. (ITIAT 7D AU \Bed Als [2x6 = 12)

(3) (1) 127°C SR%27°C 47 WYY 17 ©F1 S0 145 2 Fe 750! 5w &1
(i} SIS WMHEFGIES (3T (OGS FUars T3
(iil) (7 AELRICATG = (2P0 T RIS ITE W13 S0E 1 AN T4

[ SR PR

- e



(b) () SS-F6F I 300°C STV POl &7 1 €071 835 ) SIS 2.5 CUILETR
e 35 0.65 (0 PCI: B&=10 TF PCIs 33 Ol SR 9 (IF FWER
(i) Cannizzara FRISFE] J9% Pinacol-Pinacolone SIRISNIS ST 53 Gl
=Y

[3+3]
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